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QUESTION 1
The link utilization rate of the traditional network is only 20%~30%. Huawei's agile wide-area solution is based on the SDN architecture, integrating bandwidth, delay, cost and other factors to globally calculate the route, realize reasonable
scheduling of service traffic, and improve network utilization. More than 70%.

A. False
B. True

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 2
Which of the following is not a problem facing the WAN ()

A. many types of business, a large number of export links
B. high bandwidth utilization
C. high bandwidth rental costs
D. Long service deployment time

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3
Which of the following technologies are not supported by the NE40E

A. wide area acceleration
B. QSFP28 and CFP2 100G ports
C. 50G port
D. IPsec encryption

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4
Which of the following are the highlights of an agile wide-area solution ()

A. management efficiency, best business experience
B. global traffic optimization, pipeline transmission efficiency
C. wired and wireless deep integration, so that operation and maintenance is no longer cumbersome
D. technical ability innovation, the ultimate business experience

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 5
What are the advantages of IP hard pipe compared with traditional QoS technology ()

A. improve scheduling flexibility
B. Improve business experience
C. reduce configuration complexity
D. improve link reliability

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 6
Huawei has no IPV6 solution

A. True
B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
H3C only S12500X-AF is the product with Huawei CE12800/CE12800E

A. True
B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 8
Currently 100GE optical module without short-range (100 meters) dual-fiber multi-mode module

A. True
B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 9
In the Huawei data center SDN solution, the virtual firewall model (enterprise market) is ()?

A. USG6000
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B. USG6000V
C. USG9500V
D. USG9000

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 10
In the Huawei data center SDN solution, if a purely hard distributed solution (border leaf, service leaf, and spine separation) is used, where is the gateway that is forwarded across subnets ()

A. spine
B. Vfw
C. Leaf node
D. above

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 11
Which of the following TOR switches can support flexible card insertion?

A. CE6870
B. CE6855
C. CE8861
D. CE8850

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 12
The following products belong to the data center switch ()

A. Huawei CE12800
B. Huawei's S12700
C. H3C S10500
D. H3C S12500X-AF
E. H3C S12508-S

Correct Answer: ACDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 13
What scenarios can the Huawei AI fabric solution currently apply to ()
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A. HPC scene
B. distributed scene
C. AI scene
D. DCI

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 14
Which of the following switches support lossless Ethernet (AI Fabric) features

A. CE6865
B. CE6855
C. CE8850-64CQ
D. CE8861

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15
The AP4050DE-M main feature is the Internet of Things AP.

A. True
B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16
AP8030DN is built-in lightning protection, AP8130DN is external lightning protection.

A. True
B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 17
Huawei AP8182 is a product that supports dual 5G ().

A. True
B. False
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18
Regarding the characteristics of agile distributed APs, the statement is wrong ()

A. up to 48RU
B. plug and play
C. slightly higher than the overall cost of the panel
D. RU free license, less management nodes

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 19
The GI corresponding to short GI and normal GI is ()

A. 200ns, 400ns
B. 800ns, 1600ns
C. 400ns, 800ns
D. 100ns, 200ns

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20
Cloud Management Full Lifecycle Business Process ()

A. cloud network rules, cloud network optimization, cloud inspection, cloud deployment
B. cloud network rules, cloud deployment, cloud network optimization, cloud inspection
C. cloud network optimization, cloud network rules, cloud deployment, cloud inspection
D. cloud deployment, cloud network rules, cloud network optimization, cloud inspection

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 21
The following statement is wrong ()

A. Huawei self-developed smart antenna technology to improve coverage, wall penetration and throughput performance
B. AP8050TN-HD uses AMC superconducting material miniaturization technology, built-in antenna is reduced by 30%
C. Huawei AP supports 200m long-distance power supply, and H3C also supports
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 22
Which of the following is not the advantage of AP7052DN relative to friends ()

A. support POE OUT output power supply
B. Power supply for POE switches supporting 200 meters distance
C. support 1G/2.5G/5G adaptive Ethernet interface
D. Bluetooth, IoT slot

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 23
Which of the following technologies are key technologies used by 802.11n?

A. frame aggregation
B. OFDM-MIMO
C. channel bundling
D. Short-GI

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 24
Huawei cloud management network supports full lifecycle cloud management, which operations can be done in the cloud ()

A. optimization
B. Planning
C. deployment
D. operation and maintenance

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 25
The main features of the 2051-E include ()

A. support PoE output power supply
B. built-in smart antenna
C. 6 GE offline interfaces
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D. built-in Bluetooth

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 26
The following statement about cloud management is correct ()

A. Cloud management supports full-scenario solutions
B. cloud management can support local forwarding of 128 APs
C. 2019 cloud management incentives include 500 units on the line back to 50,000, 2000 units on the line back to 200,000
D. cloud management AP supports dual stack mode

Correct Answer: ABCD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 27
What are the typical application scenarios of agile distributed WiFi ()

A. hospital ward
B. student dormitory
C. compartment coverage
D. hotel customers

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 28
All types of AR63XX series routers support all types of master control with 10 Gigabit interface

A. False
B. True

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 29
The main application industries of SD-WAN solutions include finance and large enterprises.

A. False
B. True

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 30
Which of the following models is the AR ICT Fusion Class Education Gateway ()

A. AR1220C
B. AR511
C. AR513
D. AR169

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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